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Question Number : 1 Question Id : 8247245853 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Proximodistal principle is illustrated in which of the following examples?
Options:

1. Infants develop vision before the use of their arms.

2. Infants develop cognitive abilities and then learn language.

3. Infants first learn to move their torso and then their arms and legs.

4. Infants learn cooing before babbling.

Question Number : 1 Question Id : 8247245853 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 8247245854 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Children of poor income families have very different childhood than children of

high-income families.
Reason (R): The period of childhood is experienced differently by children across varying cultures.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) Is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 2 Question Id : 8247245854 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 8247245855 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Improved athletic abilities, participation in games with rules, logical thought processes that are

centered around concrete experiences, are hallmarks of the period of -
Options :

1. Infancy

2. Early childhood

3. Middle childhood

4. Adolescence

Question Number : 3 Question Id : 8247245855 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 8247245856 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are secondary agencies of socialization?
(i) Books and magazines

(i) Immediate family

(iii) Media

(iv) School
Options :

1. (iii), (iv)

2. (ii), (iv)

3. (i), (iii), (iv)
4. (i), (iii), (iv)

Question Number : 4 Question Id : 8247245856 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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5. (). (i), (iv)

4. (11), (iii), (iv)

Question Number : 5 Question Id : 8247245857 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Piaget, the unfolding of biological changes that are genetically programmed is called

Options :

1. equilibration
2. adaption

3. maturation

4. social transmission

Question Number : 5 Question Id : 8247245857 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 8247245858 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correctly matched pair of stage and its characteristics as proposed by Jean Piaget
Options :

1. Sensori-motor-Engagement in mental manipulations

2. Pre-operational-Development of object permanence

3. Concrete operational -Capable of operations but not abstraction

4. Formal operational- Unable to mentally reserve actions

Question Number : 6 Question Id : 8247245858 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 8247245859 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Children talking aloud to themselves-



Options :

1. is an indication of their egocentricism.

2. helps them to regulate their thinking.

3. hinders their psychological and language development.

4. is an identifier of severe behavioral problems.

Question Number : 7 Question Id : 8247245859 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 8247245860 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are examples of cultural tools that aid and change our functioning as per

Lev Vygotsky’s theory?
(i) Maps
(i) Language

(i) Calculator



(iv) Schemas

Options :

1. (i), (iv)

2. (i), (iii)

3. (i), (ii), (iii)

4. (i), (i), (iii), (iv)

Question Number : 8 Question Id : 8247245860 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 8247245861 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following pedagogical principle would not be advocated by Lev Vygotsky?
Options:

1. Employ rewards and punishment

2. Promote social interaction

3. Use co-operative learning

4. Encourage children to use cultural tools

Question Number : 9 Question Id : 8247245861 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 8247245862 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following does not indicate a child-centered classroom?

Options :

1. Seating arrangement changes as per the activity.

2. Children’s progress is reported in qualitative terms and on all aspects of development.

3. Teacher reads the textbook and writes answers on the blackboard for students to copy.



4. Children are engrossed in what they are doing.

Question Number : 10 Question Id : 8247245862 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 8247245863 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Lawrence Kohlberg's theory of moral development, the stage of ‘social order maintaining’ is

characterized by -

Options :

1. Understanding of reciprocity.

2. Fear of authority and avoidance of punishment.
3. Seeking affection and approval of others.

4. Each member of society having a personal duty to uphold laws.

Question Number : 11 Question Id : 8247245863 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 8247245864 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Howard Gardner -

Options:

1. intelligence is a single entity.

2. there are several distinct types of intelligences.

3. intellectual trails can be classified along three dimensions - operations, contents and products.

4. intelligence consists of a general factor and some specific factors.

Question Number : 12 Question Id : 8247245864 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 8247245865 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Use of gender neutral language and discussing gender as a social construct rather than being

biologically determined would-
Options :

1. promote gender discrimination.
2. reinforce gender bias.

3. encourage gender conformity.

4. challenge gender stereotyping.

Question Number : 13 Question Id : 8247245865 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 8247245866 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

should be followed by the teacher to facilitate learning of children from diverse

backgrounds.

Options :

1. Standardized curriculum

2. Textbook centric pedagogy

3. Differentiated instructional styles

4. Summative assessment

Question Number : 14 Question Id : 8247245866 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 8247245867 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about Assessment of children is not correct?

Options :

1. Assessment should be undertaken to facilitate learning and should involve diverse tools.

2. Assessment should always be conducted as an activity separate from teaching- learning.

3. Assessment should give the teacher an opportunity to reflect upon her pedagogical strategies.

4. Assessment should focus upon cognitive, physical as well as psychological domains.

Question Number : 15 Question Id : 8247245867 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 8247245868 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Inclusion in education implies that
Options :

1. students are given admission selectively on the basis of their ability.



2. students make adjustments as per the demands of school.
3. all students study in same school irrespective of their differences.

4. students with disabilities study separately in special schools.

Question Number : 16 Question Id : 8247245868 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 8247245869 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following disability cause challenges in reading and comprehending the written

materials?

Options :

1. Locomotor disability
2. Hearing impairment
3. Dyscalculia

4. Dyslexia



Question Number : 17 Question Id : 8247245869 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 8247245870 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will hinder inclusion of learners from disadvantaged and deprived groups?
Options :

1. Flexible Curriculum

2. Decontextualized content

3. Learner-centered pedagogy

4. Comprehensive evaluation

Question Number : 18 Question Id : 8247245870 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 8247245871 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Use of diverse pedagogical strategies by the teachers will help in inclusion of:
(i) students with speech impairment

(i) students with visual impairment

(iii) students with giftedness

(iv) creative students

Choose the correct option.
Options :

1. (i)

2. (ii), (i)

3. (i), (ii), (iv)

4. (i), (i), (iii), (iv)

Question Number : 19 Question Id : 8247245871 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 8247245872 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of appropriate accommodation strategy for

inclusion of students with the specified disability?

Options :

1. Dysgraphia: Ensuring compulsory writing on un-ruled sheets

2. Dyslexia: Giving text with mixed uppercase and small letters for reading
3. Locomotor disability: Provision of classes on ground floor

4. Visual impairment: Using sign language for communication

Question Number : 20 Question Id : 8247245872 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 8247245873 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following facilitates student’s thinking?
Options:

1. Drill and practice

2. Copying without understanding

3. Discussion with peers

4. Passive listening

Question Number : 21 Question Id : 8247245873 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 8247245874 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

It is important to situations where the students are listeners for long periods

of time.

Options :

1. avoid, passive
2. create, passive
3. prevent, active

4. reinforce, docile

Question Number : 22 Question Id : 8247245874 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 8247245875 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is correct in context of learning?

Options:

1. Students learn best when they participate in culturally irrelevant activities.
2. Students learn best when they participate in meaningful activities.

3. Students learn least when they participate in culturally relevant activities.

4. Students learn least when they participate in meaningful activities.

Question Number : 23 Question Id : 8247245875 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 8247245876 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

While designing instructions, a teacher should ensure that her instructions does not

Options:

1. confuse and discourage students
2. facilitate scaffolding

3. mediate learning

4. result in transfer of learning

Question Number : 24 Question Id : 8247245876 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 8247245877 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is not promoted by the advocates of socio-constructivist approach of

learning?
Options :
1. Conditioning of behavior

2. Discovery learning



3. Scaffolding

4. Use of cultural tools

Question Number : 25 Question Id : 8247245877 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 8247245878 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In order to enhance problem solving skills of students, which of the following is a good strategy?
Options :

1. Create situations that demands application of knowledge.

2. Give a list of facts to rote-memorize.

3. Instruct students to copy written information from board.

4. Teach content for getting good marks in exams.

Question Number : 26 Question Id : 8247245878 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 8247245879 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher should deal with the misconceptions among children by:
Options:

1. Identify but not attending those misconception.

2. Providing opportunities to counter their misconceptions.

3. Punishing children for expressing misconceptions.

4. Referring them straight to a remedial teacher.

Question Number : 27 Question Id : 8247245879 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 8247245880 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Shame is to the process of learning.
Options :

1. essential

2. harmful

3. not related

4, significant

Question Number : 28 Question Id : 8247245880 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 8247245881 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The shift proposed in National Education Policy 2020 is from -
Options :

1. standardization to flexibility

2. formative to summative assessment

3. conceptual understanding to learning-for -exams

4. multidisciplinary to rigidity

Question Number : 29 Question Id : 8247245881 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 8247245882 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Learning should be directed towards rather than




Options :

1. competition, imitation

2. imitation, competition

3. memorization, understanding

4. understanding, memorization

Question Number : 30 Question Id : 8247245882 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 8247245883 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
2 3 . :
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Options :
17

Question Number : 31 Question Id : 8247245883 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 8247245884 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true?

Options :

. V09 =023

, Foran integer q, a3 is always greater than a?.

3 If a? ends in 9, then a3 ends in 7.

4 Ifadivides b, then a3 divides b3,

Question Number : 32 Question Id : 8247245884 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frfeiEgs o 9 S-ar #eE e 29
Options:

1 V0.9 =032
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Question Number : 33 Question Id : 8247245885 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The value of

(O x @) x &) +5

Options :
1.3

N
W |

Question Number : 33 Question Id : 8247245885 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



[G)T X @_4 X (E)Z + 3% At

Options :
1.3

Question Number : 34 Question Id : 8247245886 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What should be added to (0.102 + 0.25+ 0.111 + 0.1) to get 1?

Options :
1. 0.457
2. 0.437

3. 0.563

4. 0.537

Question Number : 34 Question Id : 8247245886 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



(0.102+025+0.111 +0.1) 5 F9T ST 10, 5099 T | THED

Options :
1. 0.457

5 0.437

3. 0.563

Question Number : 35 Question Id : 8247245887 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
If x=22x32x53
y=24><33><52and
z=23%x33x52 then
(LCM of x, yand z) + (HCF of x, yand z) =
Options :
1. 30

4 120

Question Number : 35 Question Id : 8247245887 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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(v, y AT ZFLCM) + (v, y 3 z T HCF) =
Options :
1. 30
2 45
3. 60
4 120

Question Number : 36 Question Id : 8247245888 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

g i i i
The area of a square field is 256m" and a rectangular lawn, whose width is 5 of the side of the square field, have the

same perimeter as that of the square field. What is the area (in m?) of the rectangular lawn?
Options :

1. 190

2. 210

3 220

4. 240

Question Number : 36 Question Id : 8247245888 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Y » - -~ [ f‘ 5 *,
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Options :
1190

5, 210
3 220

4. 240

Question Number : 37 Question Id : 8247245889 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The volume of a cylindrical tank is 352, The diameter of its base is 8m. What is the depth (in m) of the tank? (Take
2

I :?)

Options :

4 105

Question Number : 37 Question Id : 8247245889 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1. 3.5

Question Number : 38 Question Id : 8247245890 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

One factor common to X 2 +4x -21 and x 2 -4x +21is
Options :

1. X +7

2 3 ==

3. K &

4, X —3

Question Number : 38 Question Id : 8247245890 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

x 2+4x —213Rx 2-ax —zlf'rt.{mwégumtﬂ'@'%:



Options :

1. X+ 7
2. X7
3. Xx+3
4, X—3

Question Number : 39 Question Id : 8247245891 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

(x=y+z)~ (x—y—z)

x is equal to
Options :
1. Z(x =)
> X(y—2z)
3 ¥(Ez—x)
4, X(z—Y)

Question Number : 39 Question Id : 8247245891 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ex—y+z)2; (—aa)” .

Options :



1. z(x—y)

2. x(y _Z)
3. }"(Z —I)
4. x(z—y)

Question Number : 40 Question Id : 8247245892 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the compound interest on a sum of 220000 at 10% p.a. for 2% years, interest compounded annually?

Options :

1. #5380

Question Number : 40 Question Id : 8247245892 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Y 1 | i [ 5 L k! 2
220000 F TR 10% avf@maw:; T 5 S ST T €V, TR T AT are 2 27

Options :
1. T5380



5 25410

3. 25500
4 35520

Question Number : 41 Question Id : 8247245893 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the expression (41: - ?y) [41’ + ?;}f) —(3x— 2}!}2 +(x 24 y 2),
what is the coefficient of ¥ 2 7

Options :

1. 732

2 —h3

w
LN
o

4, 49

Question Number : 41 Question Id : 8247245893 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘ N 2 s 3
HATE (4x — 7y)(4x +7y) —(3x — 2y)? +(x 2+ y HH, y" F T

Options:
7. —52



Question Number : 42 Question Id : 8247245894 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If4 —é (2x+5)= @ , then what is the value of

(4x 2-5x +4)?

Options :

Question Number : 42 Question Id : 8247245894 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

aﬁ4_% (2x +5) = @ RA@EX 2_5X + o) FARFTE

Options:
1
12
1. 2

2. 17
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Question Number : 43 Question Id : 8247245895 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the mean of the range, mode and median of the following data?
127,313,316, 15,18, 19,27, 18,34, 29

Options :
1. 19

b

Question Number : 43 Question Id : 8247245895 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
3-‘4131@ k2, 7. 13;:3, 16, 13; 18,19, 27. 18,34, ZQ%H'F{'H'{.EEE 2 ﬁ%ﬁﬁmﬁw%?

Options :
1. 19



7

Question Number : 44 Question Id : 8247245896 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Ina parallelogram ABCD, £D = 76°, The bisectors of £C and D meeta point 0.What is the measure of £C0D?

Options :
1. 80°

2. 86°
3. 0Q°

4. 114°

Question Number : 44 Question Id : 8247245896 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TorRfT T A4 ABCDH £D = 76° 71 £C 74T LD ¥ FHEHI g O T e o
£COD F g 77 27

Options :

1. 80°

5> 86°



Question Number : 45 Question Id

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 8247245897 Question Type : MCQ Option Shuffling : Yes Is

In AABC,D is the mid-point of BC such that AD = BD.
If £ADB = 102°, then what is the measure of ZBAC ?

Options :
1. 68°

2 78°

3. 80°

4, 90°

Question Number : 45 Question Id

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 8247245897 Question Type : MCQ Option Shuffling : Yes Is

AABC®, BCFraeAsE D3W TR £ % AD=BD 7t £ ADB= 1020%, @ £ BACH WA 2!

Options :
1, 68°

5> 78°

3. 80°

Question Number : 46 Question Id

: 8247245898 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Letx be the angle (in degree) which is 34° less than its supplement and y be the angle (in degrees) which is 38° more

than its complement. Then, (2 - ¥) is equal to

Options :

-

4, 82

Question Number : 46 Question Id : 8247245898 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T A 2 TR T A () £, F AT A 0 T oty TR v A () 2 A Am
380 ot 8| 9, (2 — y) W

Options:

7. 78

4, 82

Question Number : 47 Question Id : 8247245899 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

If the diagonals of a rhombus are x and y, then the length of a side of the rhombus is

Options :

N

Question Number : 47 Question Id : 8247245899 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
=t forelt TS o TR0l x TAT y €, A1 0] 9o sl oS o -

Options :

N

Question Number : 48 Question Id : 8247245900 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

IfF, Vand E represent the number of faces, number of vertices and the number of edges, respectively of a pyramid with
square base, then what is the value of (3V+2F-E)?

Options :
1. 16

3, 18

Question Number : 48 Question Id : 8247245900 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR F, V 3t E 5. e T AT e o U 35 e, 16T oA o o e 1 W A £,
(3V + 2F-E)F T2

Options :
1. 16

2. 17

3 18

Question Number : 49 Question Id : 8247245901 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A box, with inside measurements 120cm X 60cm X 48cm, is full completely by wooden cubes of the same size.
. " o i i
If the number of cubes is 200, then the lateral surface area (in cm®) of each cube is

Options :
1. 400

2. 488

Question Number : 49 Question Id : 8247245901 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ST 917 120 cm * 60 cm x 48cm'elmTWW,W%W?W%ﬁﬁwwyﬁlﬁﬁ#
?EH@TEUU%,H%H?&EWWWWW(CHE mE:

Options :
1. 400

2. 488

Question Number : 50 Question Id : 8247245902 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a box there are cards numbered a3 47, 48,49, .........., 81 and 82 (one number on one card). A card is drawn at
random from the box. What is the probability that the number on the card drawn is a prime number?



Options :

O | 3

Question Number : 50 Question Id : 8247245902 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T T T TG B, T WG 47, 48, 49, ., 81 1 82 (T 37 W b 0 ) T 2% 2

R e e & e B e s et v o o e o e
HE )

Options :




Question Number : 51 Question Id : 8247245903 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher observes that class VII learners face difficulties in understanding algebra. The teacher carries out an
experiment devising special method of introducing algebra. He/she incorporates the finding in mathematics practice.
This is an example of

Options :

1 Error analysis
- Experimentation in teaching

3. Action research

4. Inductive approach

Question Number : 51 Question Id : 8247245903 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e Tt IO e 3 ST 7 e o ST 6l Fra o SO e 3 T 1 1 21 7
Torfigeer v fafore fafer g SSTTioTs Ta o1 TR A 2 oA 3 T R S B S0 et §
FAUTREWNE |

Options :
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Question Number : 52 Question Id : 8247245904 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true about a mathematical theorem?

Options :

1. They are generalized statements of truth about certain mathematical facts.
5 They can be proved mathematically.
3. There is only one way to prove any theorem.

4. Unproved theorems are called conjectures.

Question Number : 52 Question Id : 8247245904 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

frafefEs 9 9 -9 T THT % Hey § 9E T 22
Options:
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Question Number : 53 Question Id : 8247245905 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following may not lead to professional development of mathematics teachers?

Options :

1. Timely inservice training programs to help teachers upgrade their pedagogy
- Giving duties to teachers in implementation of policies
3 Enhancing teachers” knowledge through seminars and conferences

4. Getting teachers involved in various mathematics club and inter university activities

Question Number : 53 Question Id : 8247245905 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TATeATEs o & 1T TITUT (3TeRT 2l ST ([ore 3T ST7 A5l o STom?
Options:
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Question Number : 54 Question Id : 8247245906 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following devices can be made by students to find heights and distances of distant buildings or poles by
applying trigonometric ratios?

Options :

1. Protractor
2. Clinometer

3. Thermometer

4. Set square

Question Number : 54 Question Id : 8247245906 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT 77 3 & 1.9 79 D71 31 &1 1 e £ 1 15 P «j:um\iﬁmﬁ%ﬁracgm
T 9T 9T 1 7S I 41910 3 4 28 3 27

Options :

Question Number : 55 Question Id : 8247245907 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Observation, anecdotal records, maintenance of rubrics, assignments etc. are terms associated with

Options :

1. Lesson and unit planning
o Recording and enlisting teaching-learning material
3 Tools and techniques of assessment

4. Mathematics laboratory

Question Number : 55 Question Id : 8247245907 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
R, ST AMeTE (WS, T (SFRTEe), o ST e Haitea 27

Options :
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Question Number : 56 Question Id : 8247245908 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is considered to b the most effective ways to enhance student’s interest in mathematics beyond
school hours?



Options :

1 Forming mathematics chubs which involves various activities related to mathematics learning for students
5 Telling students to participate in various competitive exams
3. Giving a lot of home work involving mathematics questions

4. Providing the students with a lot of teaching learning materials like textbooks, sample papers etc.

Question Number : 56 Question Id : 8247245908 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
FRRTeTar 5§ -1 eaTerd 6 e +f e 1 170 3 T 31 g 1 et s e 7

Options :
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Question Number : 57 Question Id : 8247245909 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following can be the most appropriate way to teach addition of integers to students of 7 grade?

Options :



1. Using a number line showing integers and illustrating forward and backward shift
o Writing the rules of integer operations on the black board
3. Telling the students to memorize the rules of integer operations

4 Telling the students to solve the problems using guidebooks

Question Number : 57 Question Id : 8247245909 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

o
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Question Number : 58 Question Id : 8247245910 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following may not be an appropriate model for teaching fractions in the middle school?
Options:

1. Region or area model



o Length or measurement model

3. Set model

4. Division model

Question Number : 58 Question Id : 8247245910 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

59 O | i AT I ST o 9 6 U ¥ o S0 T ATSet T A& & HeheT 27
Options :
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Question Number : 59 Question Id : 8247245911 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to National Curriculum Framework 2003, the goal of mathematics teaching in school curriculum is that
children learn “Important Mathematics”. Important Mathematics implies:

Options :

1. Important formulae in mathematics must be focused upon



5 Algorithms in mathematics form an important part hence should be included as a part of important mathematics

Mathematics must include such meaningful problems, which teacher and students consider worth solving and as part of
3, their daily lives

Those concepts and topics should be considered important in mathematics that turn out employable adults for social and
4. economic development

Question Number : 59 Question Id : 8247245911 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 8247245912 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Van Hieles’ levels of development of geometrical thinking, which of the following relationships represents
level -2 (Relationships)?



Options :

1. Achild can classify various shapes that look similar
5 Child identifies and classifies shapes based on properties and not based on size or orientation

Child can informally deduce general properties of a given geometrical shape and is able to see the linkages among these
3, Properties

4. Astudent can follow the deductive axiomatic systems of geometry

Question Number : 60 Question Id : 8247245912 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
3R F1e 1 ST 7% 6 T o 0 ST, T 5 9 80 .- (6 ) 1 e 27

Options :

1
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Question Number : 61 Question Id : 8247245913 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following represents correct matching of the different vitamins in column A with their functions in
column B?

Column A Column B
(a) Vitamin A (i) Helps body to use calcium for bones and teeth
(b) Vitamin C (11) Keeps our skin and eyes healthy
(c) Vitamin D (1i1) Helps body to fight many diseases
(d) Vitamin B (iv) Proper functioning of body cells and maintaining
health
Options :

1. (@)- (i), (b)- (i), (c)-(iv), (d)-(iii)
2. (a)-(iv), (b)- (ii), (c)-(iii), (d)-(i)
3. (@)-{ii), (b)- (iii), (c)-(i), (d)-(iv)

4. (a)- (iii), (b)- (iv), (c)-(i}, (d)-(ii)

Question Number : 61 Question Id : 8247245913 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

=7 9 9 i g A 1 fem o fafie ferarfeen o afteme B o fom o o werren o ey e e o vy 20

HIEH A Hem B
a) Tt A (i) 7T ot 2 5 o o
T 3 I e A B
b) faert C (1) 2T 7= T 47T 1 ] T

2
¢) I D (i) % T 9 o7 9 970 o1 e e
2

d) T B (iv) TV 1 TR 1 SO
T TR &I T § 7EE A A
Options:

. a—(ii), b=(i), c- (iv), d—(iii)



, a—(iv), b (i), c- (i), d - (i)

5 a— (i), b—(iii), c- (i), d—(iv)

4. d— {1“}'~ b o [i"'.-":l',: C- “]’* d _ “1)

Question Number : 62 Question Id : 8247245914 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following modifications help the cactus to survive in desert conditions?
(a) Leaves are in the form of spines

(b) Stem is succulent and performs the function of leaf

(c) Stem is covered with a thick layer of wax

(d) Roots lie near the surface

The correct set is -

Options :
1 (@), (b), (c)

5 (b), (), (d)
3 (a), (), (d)

4. (a), (b), (d)

Question Number : 62 Question Id : 8247245914 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T 7 T TRt | Sifed T8 o fo70 370 2770 1 & TRaEa (e 27
a) T F12T % BT § =T 2
b) T THER BIT £ &R U= 1 0 AT B
¢) T T U T WA =l 7
d) 9% Tae & g e 2|
e = © —

Options :

1 abc

5 b,c.d

3 a¢,d

4 & b,d

Question Number : 63 Question Id : 8247245915 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An element reacts with oxygen to give a water soluble compound which turns red litmus blue. This solution also used
to test carbon dioxide gas. The element is -

Options :
1. Calcium
2. Carbon

3. Sulphur

4. Magnesium



Question Number : 63 Question Id : 8247245915 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

8 7 SR ATV 3 7 3 s 21T G & 3 e 1 A o7 41 ) 6 Fares
T ST TRTEE Y 1 Y 50 3 e of e o 77 8] 9 e £ —

Options :

Question Number : 64 Question Id : 8247245916 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Certain body movements are associated with the movement of certain joints. Match the following body movements in
column A with the type of joint responsible for the movement in column B.

Column A Column B
(a) Bowling a cricket ball (1) Pivotal joint
(b) Turning the head in left or right (1i) Hinge joint
direction
(c) Elbow movement (111) Fixed jolnt
(d) Upper jaw movement during (iv) Ball and socket joint
laughing
Options:

1. (@)-(iv), (b)- (i), (c)-(ii), (d)-(iii)

2. (a)-(iv), (b)- (i), (c)-(i), (d)-(iii)

3. (a)- (i), (b)- (i), (c)-(iv), (d)-(iii)



4. (a)- (ii), (b)- (i), (c)-(iii), (d)-(iv)

Question Number : 64 Question Id : 8247245916 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T o o T g 6 7 ) A 5 e o e B 3 o o 3 o e
T 3 e ¥ T i)

TR A T B
a]ﬁﬁ»’{ﬁﬁﬁm (i)ﬂwﬁ%
AN AT | (i) FEA
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d) £ 7 30 95 1 T (iv) e & Feyer

Options :
. a—(v),b—(1), c—(i1), d—(ii1)

, a—(iv), b (ii), e — (i), d— (i)

o a—(i), b—(ii), c—(iv), d — (i)

, a- (i), b=(i), c—(iii), d—(iv)

Question Number : 65 Question Id : 8247245917 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A person shows stunted growth, swelling of face, discoloration of hair and skin diseases. This may be due to the
deficiency of

Options :
1. Fats



2. Proteins

3. Carbohydrates

4. Minerals

Question Number : 65 Question Id : 8247245917 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. FET

Question Number : 66 Question Id : 8247245918 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Match the following plants in column A with their mode of reproduction in column B

Column A Column B
(a) Algae (i)  Spore formation
(b) Fungi (ii) Fragmentation
(c) Dahlia (i) Detachment of body part
(d) Cactus (iv) By roots
Options :

1. (@)-(iv), (b)- (i), (c)-(i), (d)-(ii)
2. (@)- (i), (b)- (iii), (c)-(i), (d)-(iv)
3, (@)-(iii), (b)- (i), (c)-(iv), (d)-(ii)

4. (a)- (i), (b)- (i), (c)-(iv), (d)-(iii)

Question Number : 66 Question Id : 8247245918 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

. a—(iv), b (iii), c = (i), d—(ii)

, a—(ii), b—(iii), c (i), d—(iv)

;. a—(iii), b= (i), c—(iv),d—(ii)



4 a— (1), b—(1), c—(iv), d—(iii)

Question Number : 67 Question Id : 8247245919 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Given below are some substances and their mode of storage in a laboratory.
Match the correct answer.

A B
(a) Sodium metal (1) in a glass bottle
(b)Phosphorus (iI)  In a plastic bottle
(c) Sodium hydroxide pellets (1ii)  under water
(d) Mercury (iv)  in kerosene

Options :
1 (@)= (1), (b) — (i), (¢) —(iv), (d) — (1)

2, (@)= (1v), (b) —(iii), (¢) — (i), (d) - (1)

3 (@) = (i), (b) —(iv), (c) —(ii), (d)—(iii)

4 (@) =(ii), (b) =(i), (c) —(iii), (d) - (iv)

Question Number : 67 Question Id : 8247245919 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

a— (iii), b — (ii), ¢ —(iv), d— (i)

1.
5 a—(iv), b—(iii), c — (ii), d —(i)
3 a—(1), b—(iv), c—(i1), d—(ii1)

4 a—(ii), b—(i), c—(iii), d—(iv)

Question Number : 68 Question Id : 8247245920 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Srijon participated in a marathon, although he is not a regular walker. Cramps occurred in his legs due to fast running.
This happened because ‘A’ partially broke down to ‘B, in muscles. A hot water bath improved his condition due to the
complete breakdown of ‘B’ into *C’ and ‘D" A, B, C and D respectively are -

Options :
1. Lactose. lactic acid, oxygen, water
5 Galactose, alcohol. oxygen, water

3 Glucose, lactic acid, carbon dioxide, water

4 Glucose, ascorbic acid, carbon dioxide, water



Question Number : 68 Question Id : 8247245920 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 8247245921 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is Not a function of manure?

Options :

1. Improvement of soil texture.

> Replenishment of soil with nutrients.

3. Providing pockets in the soil for seeds to grow.



4 Improvement of water retaining capacity of soil.

Question Number : 69 Question Id : 8247245921 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

1 wﬁmaﬁrﬂﬁm

, TT I el 1 S F

5 TaT § it ST 15 % feAm gf&w TET AT

. TaT T T eI o] ﬁrﬁﬂml

Question Number : 70 Question Id : 8247245922 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following sets comprises human disease caused by a virus?
Options:

1 Tuberculosis, measles. cholera, polio

- Hepatitis A, measles, polio, chicken pox

3. Cholera, typhoid, polio, Tuberculosis

4. Cholera, typhoid, Hepatitis A, measles



Question Number : 70 Question Id : 8247245922 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 71 Question Id : 8247245923 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Various petroleum products and their uses are given below in column A and column B respectively. Choose the correct
matching set.

Column A Column B
(a) Coke (1)  Used on perfume, explosives
(b)Coal tar (i) Used as fuel in industries
(c) Coal gas (ili) Metalling of the roads
(d)Bitumen (iv) Manufacturing of steel
Options:

1 (@)=(iv), (b) — (1), (¢) — (ii), (d) — (iii)

, (@)= (iii), (b) - (11), (¢) - (iv), (d) — (1)



3. (@)= (ii), (b)—(iii), () - (ii), (d)—(iv)

4 @—=(@), (®)=iii), (©) - (iv), (d)— (i)

Question Number : 71 Question Id : 8247245923 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options

a—(iv),b— (i), c—(i1), d—(iii)
, a—(iii), b—(ii), ¢ —(iv), d —(i)
a— (i), b— (iii), ¢ — (ii), d —(iv)

3.

, a—(i), b—(iii), c- (iv), d—(ii)

Question Number : 72 Question Id : 8247245924 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following represents the correct matching set?

Fibre Part of origin
(a) Flax (i) Husk
(b) Cotton (ii) Cocoon
(c) Silk (iii) Flower
(d) Coconut fibre (iv) Stem

Options :

1 (a)=(ii1), (b) = (i1), (c) = (1), (d) — (iv)

2.

(a) — (1v), (b) — (1i1), (c) —

(i), (d) — (1)

4 (a) — (1), (b) — (i1i), (c) - (1v), (d) — (1)

Question Number : 72 Question Id : 8247245924 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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b—(1v),

¢ — (iii), d — (i)




4 a—(), b—(iii), c- (iv), d—(ii)

Question Number : 73 Question Id : 8247245925 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement from the following regarding plastics-

Options:

1. Thermoplastics can be moulded again and again.
- Thermosetting plastics can be softened by heating.
3 Bakelite is an example of thermoplastic.

4 Polythene and PVC are examples of thermosetting plastics.

Question Number : 73 Question Id : 8247245925 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 74 Question Id : 8247245926 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Arrabbit's fastest speed is 56 knvh. If it has to cover a distance of 2.5km, then how much time in minutes will it take to
cover it if it runs the fastest it can.

Options :

1. 3 minutes
2. 4 minutes
3. 5 minutes

4. 2 minutes

Question Number : 74 Question Id : 8247245926 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

1, 3T

, 4 T9e



Question Number : 75 Question Id : 8247245927 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Alisha is suffering from high fever. Her friend checked her temperature with a clinical thermometer and found that it is

101 ° ¢ and two divisions more on the right hand side. (Five divisions between two big lines). Her temperature is
Options :
1. 101.4°%¢

> 101.2°%¢c
3 100.8°¢c

4 100.6°¢c

Question Number : 75 Question Id : 8247245927 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 76 Question Id : 8247245928 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following activities should be avoided during thunderstorm to safeguard oneself?

Options :

1 Talking through wired phone
5> Squatting low on the ground
3. Using a mobile phone

4. Taking shelter under short trees.

Question Number : 76 Question Id : 8247245928 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 8247245929 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sound waves will not be able to travel through which of the following?
Options :

1. Wooden scale
2. Metallic wire
3. Cloth string

4. Vacuum

Question Number : 77 Question Id : 8247245929 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 78 Question Id : 8247245930 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Four glass cylinders A, B, C and D of same length 25cm and same diameter are taken and filled with water up to 20cm.
Then holes are made in A at Sem, in B at 8cm, in C at 10cm. and in D at 12cm for the bottom of each cylinder. In which
cylinder will the water coming out of the hole travel the farthest?

Options :
1. A

Question Number : 78 Question Id : 8247245930 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

1. A

Question Number : 79 Question Id : 8247245931 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Match the gadgets given in column A with the apparatus required to prepare them in column B

A B
(a) Pinhole camera (i)  Circular cardboard top with painted
seven colours. a nail

(b) Kaleidoscope (ii) Two plane mirror and a hard
cardboard / box
(c) Periscope (iif) 3 rectangular mirror stripes, a circular

plane glass plate, some pieces of
bangle and cardboard tube and disk
(d) Newton’s disk (iv) Two boxes of different sizes, a
translucent screen.

Options :
. (@)= (i), (b) = (iv), () - (i). (d) - (i)

5 (@)= (1v), (b) — (ii1), (c) — (i), (d) — (1)

5 (@)= (iv), (b) = (ii), (¢) = (i), (d) — (iii)

4. (@)= (1), (b) = (iv), (¢) - (i1), (d) —(iii)

Question Number : 79 Question Id : 8247245931 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
;. a—(iii), b— (iv), c - (i), d (i)

, a—(iv), b (ii), ¢ — (ii), d - (i)

3. a—(iv), b—(i1), c— (1), d— (1)

, a—(i), b=(iv), c- (ii), d - (iii)

Question Number : 80 Question Id : 8247245932 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which is NOT the function of a nucleus in the cell?
Options :

1. To provide shape and rigidity to the cells

o To transfer traits from parents of offspring in the form of genes.



3. To act as control centre of the activities of the cell

4. Toallow the movement of materials between the cytoplasm and inside of the nucleus.

Question Number : 80 Question Id : 8247245932 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 8247245933 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of a question to assess divergent thinking in learners on the topic of Fossil fugls?
Options :
1. Write five advantage of solar energy over fossil fuels.

5 List the steps involved in formation of coal.

3 Draw the labelled diagram of fractional distillation of petroleum.



4. What would happen if all the petroleum reserves are finished up?

Question Number : 81 Question Id : 8247245933 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 8247245934 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement(s) are correct regarding scientific theories?
A. They explain the observations based on given information
B. They can make predictions about results of future observations
C. They are generalisations of empirical observations
D. Once proven, a theory cannot be disapproved

Options :
1, 4B

, BE



Question Number : 82 Question Id : 8247245934 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 8247245935 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher gives the following task to the students of class VI

Visit a garden or local mursery and identify the plants which are *healthy” and give reasons for identifying those plants
as ‘healthy’.

Which process skills are being promoted in this activity?
Options :

1. Observing, defining operationally



o Observing, predicting

3 Communicating, measuring

4 Predicting, classifying

Question Number : 83 Question Id : 8247245935 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 8247245936 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is not an expository activity of teaching science?
Options :

1. Ateacher shows videos on habitat of various animals



o Ateacher demonstrates an experiment to show that a current carrying coil has a magnetic field around it
3. Ateacher provides a concept map to show the relationship between higher and lower order concepts

4. Ateacher asks open ended questions and seeks explanations

Question Number : 84 Question Id : 8247245936 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 8247245937 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following statement is correct?
Options :

1. Gender equity in science implicates making girls as good as boys in science.



5 Gender equity in science implicates for both girls and boys
3. Gender equity in science aims at making science more attractive to girls

4. Gender equity in science aims at creating more single sex schools

Question Number : 85 Question Id : 8247245937 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 8247245938 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following and choose correct option
S1 - Children’s ideas about a science content are often domain specific and may be conflicting
$2 — Children’s alternate conceptions in science demonstrate liner reasoning from cause to effect

Options :

1. Only Sl is correct



5 Only S2 is correct
3. Both S1 and S2 are correct

4. Both S1 and S2 are incorrect

Question Number : 86 Question Id : 8247245938 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 8247245939 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A student puts a pinch of turmeric in solutions marked A and B. She writes the following statements in her copy

S1 - Solution A turns red and there is no change in solution B
S2 — Solution A is base and solution B is an acid.
S3 — turmeric can be vsed to differentiate between acids, bases and salts.

Which of the following statements is correct?



Options :

1 S1 and S2 are observations: S3 is inference
2 S1 is observation: S2 is inference
3 S1 is observation: S2. 53 are inference

4 S2 is observation: S3 is inference

Question Number : 87 Question Id : 8247245939 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 8247245940 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an open ended question?

Options :
1. Why do we see only one face of moon from the earth?
> Why does the shape of moon change every day?

3. What happens during a luner ellipse?

4. What would happen if period of rotation and revolution of moon are different?

Question Number : 88 Question Id : 8247245940 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 8247245941 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following illustrates “assessment for learning’ in science?

Options :
1. Olympiads

o Investigatory projects

3. Annual exams

4 Quiz competition

Question Number : 89 Question Id : 8247245941 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 8247245942 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Read the following statements and choose the correct option.

Assertion (A) - Science teacher should discusses socio-scientific topics in the class
Reason (R) — Yes, as socio-scientific topics promote multiple perspectives and argumentation skills in learners
Reason (R2) - No, as socio-scientific topics are usually controversial and involves multiple perspective.

Options :

1. Adls correct and R1 is correct explain for A
> Als incorrect and R2 Is correct explanation for A
3 Als correct but R1 is not correct explanation

4 Adls incorrect and R2 is not correct explanation.

Question Number : 90 Question Id : 8247245942 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language I

SectionId: 824724170
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 824724322
Question Shuffling Allowed : Yes

Question Id : 8247245943 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the
questions/complete the statements that follow by choosing the
most appropriate options out of the given ones.

There was a woman who was beautiful, who started with all the
advantages, yet she had no luck. She married for love, and love
turned to dust. She had bonny children, yet she felt they had
been thrust upon her, and she could not love them. They looked
at her coldly, as if they were finding fault with her. And
hurriedly she felt she must cover up some fault in herself.

Yet what it was that she must cover up she never knew.
Nevertheless, when her children were present, she always felt the
centre of her heart go hard. This troubled her, and in her manner
she was all the more gentle and anxious for her children, as if she
loved them very much. Only she herself knew that at the centre
of her heart was a hard little place that could not feel love, no,
not for anybody. Everybody else said of her: ‘She is such a good
mother. She adores her children’. Only she herself, and her
children themselves, knew it was not so. They read it in each
other’s eyes.

There were a boy and two little girls. They lived in a pleasant
house, with a garden, and they had discreet servants, and felt
themselves superior to anyone in the neighbourhood.

Although they lived in style, they felt always an anxiety in the
house. There was never enough money. The mother had a small
income, and the father had a small income, but not nearly
enough for the social position which they had to keep up. The
father went into town to some office. But though he had good
prospects, these prospects never materialised. There was always
the grinding sense of the shortage of money. though the style
was always kept up.

Sub questions

Question Number : 91 Question Id : 8247245944 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) The lady was beautiful so she was loved by her
husband.
(b)She married for love, had children and loved them.

(a) is right and (b) is wrong.
(b) is right and (a) is wrong.
Both (a) and (b) are right.

Both (a) and (b) are wrong.

W -

&



Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 8247245945 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement.

1. The lady always suspected that there was something
wrong with her.

She knew her failings very well.

She always felt comfortable in the company of her
children.

4. In her heart of hearts she was very loving.

L 19

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 8247245946 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) Her children loved her as she was very affectionate.
(b) Without any cause her children were critical of her.
(c) Her children were beautiful but were cold to her.

. (a) is right and (b) is wrong.
. (b) is right and (c) is wrong.
. (c) is right and (a) is wrong.
Both (a) and (b) are wrong.

L [ =

i

Options :



1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 8247245947 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement.

Some of the neighbours were jealous of her riches.
She was very popular in the neighbourhood.

She was comfortably rich to employ servants.

She had inherited a large fortune.

ialecbud e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 8247245948 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement.

The family experienced no worry in their life.

Her children wrongly felt that they were not loved.
They lived in style in spite of everything.

The husband hoped to do better in his store.

ilobud e

e

Options :
1.1
2.2
3.3
4.4



Question Number : 96 Question Id : 8247245949 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘She had bonny children’.
Which of the following does NOT mean the same as the
underlined word?

attractive
critical
charming
beautiful

L bd =

ad

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247245950 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘She adores her children’.
Which of the following is opposite in meaning to the
underlined word?

cherishes
admires
adorns
hates

L R O R

o

Options:
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 8247245951 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“Although they lived in style...’
Above expression is clause.

a Principal

a Noun

an Adjective
an Adverb

s bl o

il

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 8247245952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘She is such a good mother.”
The underlined word is a/an

Noun
Determiner
Adjective
Conjunction

sl et

s

Options :
1.1
2.2
3.3
4.4

Question Id : 8247245943 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the
questions/complete the statements that follow by choosing the
most appropriate options out of the given ones.

There was a woman who was beautiful, who started with all the
advantages, yet she had no luck. She married for love, and love
turned to dust. She had bonny children, yet she felt they had
been thrust upon her, and she could not love them. They looked
at her coldly, as if they were finding fault with her. And
hurriedly she felt she must cover up some fault in herself.

Yet what it was that she must cover up she never knew.
Nevertheless, when her children were present, she always felt the
centre of her heart go hard. This troubled her, and in her manner
she was all the more gentle and anxious for her children, as if she
loved them very much. Only she herself knew that at the centre
of her heart was a hard little place that could not feel love, no,
not for anybody. Everybody else said of her: ‘She is such a good
mother. She adores her children’. Only she herself, and her
children themselves, knew it was not so. They read it in each
other’s eyes.

There were a boy and two little girls. They lived in a pleasant
house, with a garden, and they had discreet servants, and felt
themselves superior to anyone in the neighbourhood.

Although they lived in style, they felt always an anxiety in the
house. There was never enough money. The mother had a small
income, and the father had a small income, but not nearly
enough for the social position which they had to keep up. The
father went into town to some office. But though he had good
prospects, these prospects never materialised. There was always
the grinding sense of the shortage of money. though the style
was always kept up.

Sub questions

Question Number : 91 Question Id : 8247245944 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) The lady was beautiful so she was loved by her
husband.
(b)She married for love, had children and loved them.

(a) is right and (b) is wrong.
(b) is right and (a) is wrong.
Both (a) and (b) are right.

Both (a) and (b) are wrong.
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Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 8247245945 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement.

1. The lady always suspected that there was something
wrong with her.

She knew her failings very well.

She always felt comfortable in the company of her
children.

4. In her heart of hearts she was very loving.

L 19

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 8247245946 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) Her children loved her as she was very affectionate.
(b) Without any cause her children were critical of her.
(c) Her children were beautiful but were cold to her.

. (a) is right and (b) is wrong.
. (b) is right and (c) is wrong.
. (c) is right and (a) is wrong.
Both (a) and (b) are wrong.

L [ =

i

Options :



1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 8247245947 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement.

Some of the neighbours were jealous of her riches.
She was very popular in the neighbourhood.

She was comfortably rich to employ servants.

She had inherited a large fortune.

ialecbud e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 8247245948 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement.

The family experienced no worry in their life.

Her children wrongly felt that they were not loved.
They lived in style in spite of everything.

The husband hoped to do better in his store.

ilobud e

e

Options :
1.1
2.2
3.3
4.4



Question Number : 96 Question Id : 8247245949 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘She had bonny children’.
Which of the following does NOT mean the same as the
underlined word?

attractive
critical
charming
beautiful

L bd =

ad

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247245950 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘She adores her children’.
Which of the following is opposite in meaning to the
underlined word?

cherishes
admires
adorns
hates

L R O R

o

Options:
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 8247245951 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“Although they lived in style...’
Above expression is clause.

a Principal

a Noun

an Adjective
an Adverb

s bl o

il

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 8247245952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘She is such a good mother.”
The underlined word is a/an

Noun
Determiner
Adjective
Conjunction

sl et

s

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 824724323

Question Shuffling Allowed : Yes

Question Id : 8247245953 Question Type : COMPREHENSION Sub Question Shuffling Allowed :



Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the given poem and answer the questions/complete the statements
that follow by choosing the most appropriate options out of the given
ones.

The earth was green, the sky was blue,
I saw and heard one sunny morm

A skvlark hang between the two;

A singing speak above the corn.

A stage below in gay accord,

White butterflies danced on wing,
And still the singing skylark soared,
And silent sank and soared to sing,
The cornfield stretched a tender green
To right and left between my walks.
I know he had a nest unseen
Somewhere among the million stalks.
And as I paused to hear his song
While swift the sunny moments slid,
Perhaps his mate sat listening long,
And listened longer than I did.

Sub questions

Question Number : 100 Question Id : 8247245954 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poet’s intense for nature is described here.

love

desire
feeling
indifference

Wb -

e

Options :
1.1
2.2
3.3
4.4



Question Number : 101 Question Id : 8247245955 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The singing skylark was

hiding in his nest.
stalking in the cornfields.
flying high in the sky.
sitting on a tree.

Lokl e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247245956 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The white butterflies below and enjoved the
skvlark’s singing.

floated
fluttered
glided
slided

Options :

i e

P

1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 8247245957 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Who enjoyed the skylark’s singing for the longest?

The poet

White butterflies
Skylark’s mate
The birds

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 8247245958 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The skylark is singing gaily

1. atdawn
2. in the morning
3. atdusk
at night

o

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 8247245959 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What figure of speech is used in line 7 *And silent sank and
soared to sing”?

I. Simile

2. Alliteration

3. Personification
4. Metaphor



Options :
1.1
2.2
3.3
4.4

Question Id : 8247245953 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the given poem and answer the questions/complete the statements
that follow by choosing the most appropriate options out of the given
ones.

The earth was green, the sky was blue,
I saw and heard one sunny morn

A skylark hang between the two:

A singing speak above the corn.

A stage below in gay accord,

White butterflies danced on wing,
And still the singing skylark soared,
And silent sank and soared to sing,
The cornfield stretched a tender green
To right and left between my walks,
I know he had a nest unseen
Somewhere among the million stalks.
And as I paused to hear his song
While swift the sunny moments slid,
Perhaps his mate sat listening long,
And listened longer than I did.

Sub questions

Question Number : 100 Question Id : 8247245954 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The poet’s intense for nature is described here.

love

desire
feeling
indifference

e tel e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 8247245955 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The singing skylark was

hiding in his nest.
stalking in the cornfields.
flying high in the sky.
sitting on a tree.

bt e

o

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247245956 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The white butterflies below and enjoyed the
skvlark’s singing.

floated
fluttered
glided
slided

i e

P



Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 8247245957 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who enjoyed the skylark’s singing for the longest?

The poet

White butterflies
Skylark’s mate
The birds

e ol vl

s

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 8247245958 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The skylark is singing gaily

at dawn
in the morning
at dusk
at night

Shlerud e

e

Options :
1.1
2.2
3.3
4.4



Question Number : 105 Question Id : 8247245959 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What figure of speech is used in line 7 *And silent sank and
soared to sing"?

Simile
Alliteration
Personification
Metaphor

o bl o

g

Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 824724324

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 8247245960 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT a Scheduled language in India?

Tamil
Hindi
Urdu
Mizo

SR e

e

Options :
1.1
2.2
3.3
4.4



Question Number : 106 Question Id : 8247245960 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT a Scheduled language in India?

Tamil
Hindi
Urdu
Mizo

SR e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 8247245961 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A learner listens to her teacher carefully in the class and takes down notes of the points to prepare the assignment the
next day. What is this listening known as?

. Extensive listening
2. Academic listening
3. Top down model

4. Intensive listening

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 8247245961 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A learner listens to her teacher carefully in the class and takes down notes of the points to prepare the assignment the
next day. What is this listening known as?

. Extensive listening
2. Academic listening
3. Top down model

4. Intensive listening

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 8247245962 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Afteacher gives her learners two riddles and asks them to solve the riddle in pairs. One has to solve the puzzle by
speaking out whatever one thinks. The other has to solve the other riddle in the same manner. What is this activity
known as?

L. Speaking and listening
2. Pair work

3. Language use

4. Think aloud protocol

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 8247245962 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Afteacher gives her learners two riddles and asks them to solve the riddle in pairs. One has to solve the puzzle by
speaking out whatever one thinks. The other has to solve the other riddle in the same manner. What is this activity
known as?

L. Speaking and listening
2. Pairwork

3. Language use

4. Think aloud protocol

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 8247245963 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher selects text / passage from a newspaper and deletes every fifth word (which happens to be verbs) and designs
an assessment task for student to fill the missing verb in the passage.
What is this test item known as?

|, Fill in the blanks
2. Grammar task

3. Cloze activity
4

o

. Task for grammar
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 8247245963 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A teacher selects text / passage from a newspaper and deletes every fifth word (which happens to be verbs) and designs
an assessment task for student to fill the missing verb in the passage.
What is this test item known as?

|, Fill in the blanks
2. Grammar task

3. Cloze activity
4

o

. Task for grammar
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 8247245964 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Objects and things are used by teachers for teaching-learning of vocabulary and other aspects of language. What are
these materials?

. Play way materials
2. Toys and games
3. Realia
4. Cultural materials
Options :
1.1
2.2
3.3

4.4

Question Number : 110 Question Id : 8247245964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Objects and things are used by teachers for teaching-learning of vocabulary and other aspects of language. What are
these materials?

1. Play way materials
2. Toys and games
3. Realia
4. Cultural materials
Options :
1.1
2.2
3.3

4.4

Question Number : 111 Question Id : 8247245965 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the ways is ideal for teaching-learning of grammar?

I. Presenting the grammatical form in natural discourses and let the learner notice it.

2. Presenting the form first and provide a detailed explanation to learners followed by activities.
3. Providing the form in sentences and drill them as much as possible.

4. Presenting the form and support learner to memorize the form.

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 8247245965 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the ways is ideal for teaching-learning of grammar?

I. Presenting the grammatical form in natural discourses and let the learner notice it.

2. Presenting the form first and provide a detailed explanation to learners followed by activities.
3. Providing the form in sentences and drill them as much as possible.

4. Presenting the form and support learner to memorize the form.



Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 8247245966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Lingdo is able to recognize some words in a text or when it is spoken, but is not able to use on his own. What are these
words known as?

L. Active vocabulary
2. Passive vocabulary
3. Difficult word
4. Unknown word

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 8247245966 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Lingdo is able to recognize some words in a text or when it is spoken, but is not able to use on his own. What are these
words known as?

. Active vocabulary
. Passive vocabulary
. Difficult word

. Unknown word

g Tad bl —

Options :
1.1
2.2



3.3
4.4

Question Number : 113 Question Id : 8247245967 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rahim listens to 9 0" clock news every day and share some of the news with his friends. What is this listening know as?

L. Intensive listening

2. Extensive listening

3. Bottom up model

4. Listening for information

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 8247245967 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rahim listens to 9 0" clock news every day and share some of the news with his friends. What is this listening know as?

. Intensive listening

2. Extensive listening

3. Bottom up model

4. Listening for information

Options:
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 8247245968 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher dictates a ten sentence paragraph in her class. She reads out the paragraph twice and asks her learners to listen
fo paragraph carefully and rewrite the paragraph. Learners need not write the exact sentences of the paragraph. They
need to capture the meaning or nearer o the meaning of the paragraph. What approach does the teacher use here for

teaching listening?

. Bottom up approach
Structural approach
. Top down approach
. Paragraph dictation

e b —

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 8247245968 Question Type : MCQ Option Shuffling

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

:No

Ateacher dictates a ten sentence paragraph in her class. She reads out the paragraph twice and asks her learners to listen
to paragraph carefully and rewrite the paragraph. Learners need not write the exact sentences of the paragraph. They
need to capture the meaning or nearer o the meaning of the paragraph. What approach doss the teacher use here for

teaching listening?

1. Bottom up approach
2. Structural approach
3. Top down approach
4, Paragraph dictation

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id

: 8247245969 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Here is an assignment for class VIIT learners. What type of writing is this?

In pairs brain storm, jot down ideas and develop into good write-up giving two arguments in favour and two against the
topic,
Climate change is effecting all countries of the world.

L. Discursive writing
2. Descriptive writing
3. Creative writing

4. Expository writing

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 8247245969 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Here is an assignment for class VIIT learners. What type of writing is this?

In pairs brain storm, jot down ideas and develop into good write-up giving two arguments in favour and two against the
fopic,
Climate change is effecting all countries of the world.

L. Discursive writing
2. Descriptive writing
3. Creative writing

4. Expository writing

Options:
1.1
2.2
3.3
4.4



Question Number : 116 Question Id : 8247245970 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true of a language?

A dialect has many languages.
A language need to have a script to be a language.
A language should have a region to be a language.
A language has many dialects.

SR e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 8247245970 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true of a language?

A dialect has many languages.
A language need to have a script to be a language.
A language should have a region to be a language.
A language has many dialects.
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Options:
1.1
2.2
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Question Number : 117 Question Id : 8247245971 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is NOT an authentic material(s) for language learning?

A newspaper article

A cartoon from a magazine

A monkey doll

A contrived text by the teacher
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Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 8247245971 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an authentic material(s) for language learning?

A newspaper article

A cartoon from a magazine

A monkey doll

A contrived text by the teacher

W

o

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247245972 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an authentic language testing task?

1. Write the autobiography of a tree.

2. Imagine you the tree which stands in front of your house and tell your story.

3. Describe the scene in the picture in your own words.

4. On your way to school you witnessed a quarrel between two men. Describe the event.



Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247245972 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an authentic language testing task?

1. Write the autobiography of a tree.

2. Imagine you the tree which stands in front of your house and tell your story.

3. Describe the scene in the picture in your own words.

4. On your way to school you witnessed a quarrel between two men. Describe the event.

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 8247245973 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 (NEP) describes language education and language learning as

. Language for all

. Multilingualism and the power of language

. Three language formula

. Multilanguage learning and the power of language.
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Options :
1.1
2.2
3.3
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Question Number : 119 Question Id : 8247245973 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 (NEP) describes language education and language learning as

. Language for all

. Multilingualism and the power of language

. Three language formula

. Multilanguage learning and the power of language.
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Options:
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 8247245974 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher of class VIII divides the class into groups of five and assigns the group tasks of collection of data /
information, analyzing the data and writing report collaboratively. What is this activity known as?

[ Assignment
2. Project work
3. Home work
4. Formative assessment

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 8247245974 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A teacher of class VIII divides the class into groups of five and assigns the group tasks of collection of data /
information, analyzing the data and writing report collaboratively. What is this activity known as?

[. Assignment
2. Project work
3. Home work
4. Formative assessment

Options :
1.1
2.2
3.3
4.4
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Section type : Online
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Section Marks : 30
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Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 824724325
Question Shuffling Allowed : Yes

Question Id : 8247245975 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No

Question Numbers : (121 to 128)
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Question Number : 121 Question Id : 8247245976 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 122 Question Id : 8247245977 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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3.3
4.4

Question Number : 123 Question Id : 8247245978 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
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Question Number : 124 Question Id : 8247245979 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 125 Question Id : 8247245980 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 126 Question Id : 8247245981 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
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Question Number : 127 Question Id : 8247245982 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 128 Question Id : 8247245983 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 122 Question Id : 8247245977 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 126 Question Id : 8247245981 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 8247245982 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Question Id : 8247245984 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Question Number : 129 Question Id : 8247245985 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 8247245998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 8247245999 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 8247245999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 8247246000 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

-2

N S ]

1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 8247246000 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 8247246001 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 8247246001 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 8247246002 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4, TreawTe
Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 8247246002 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 8247246003 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 8247246003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 8247246004 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

]

1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 8247246004 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

]

1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 8247246005 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 8247246005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 8247246006 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 8247246006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4



